






SSANGYONG

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

4 info@riw.com.tr



SSANGYONG

ACTYON I 2005 - 2009

Image Product Code and Description Details OEM

SY1001

BALL JOINT FRONT LOWER Weight : 0,766 kg  / 1.689 lb
44541-09000, 44541-09001
44541-09002, 44541-09003
44541-09004, 44541-09005

SY2001

TIE ROD END RH Weight : 1,046 kg  / 2.306 lb 46660-09013

SY2002

TIE ROD END LH Weight : 1,046 kg  / 2.306 lb 46660-09004

SY3001

AXIAL JOINT
Weight : 0,600 kg  / 1.323 lb
Length : 212 mm  / 8.35 inch

4650009005

SY4001

LINK STABILIZER REAR RH
Weight : 0,345 kg  / 0.761 lb
Length : 167,5 mm  / 6.59 inch

4475209000

SY4002

LINK STABILIZER REAR LH
Weight : 0,345 kg  / 0.761 lb
Length : 167,5 mm  / 6.59 inch

4475109000

SY6001

CONTROL ARM (WITH BALL JOINT)
FRONT UPPER RH

44402-09010, 44402-09011

SY6002

CONTROL ARM (WITH BALL JOINT)
FRONT UPPER LH

44401-09010, 44401-09011

SY6003

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

Weight : 7,310 kg  / 16.116 lb
4450209001, 4450209004

4450209100

SY6004

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

Weight : 7,310 kg  / 16.116 lb
4450109001, 4450109004

4450109100

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

5 info@riw.com.tr



SSANGYONG

ACTYON II 2010 - 

Image Product Code and Description Details OEM

SY1001

BALL JOINT FRONT LOWER Weight : 0,766 kg  / 1.689 lb
44541-09000, 44541-09001
44541-09002, 44541-09003
44541-09004, 44541-09005

SY6001

CONTROL ARM (WITH BALL JOINT)
FRONT UPPER RH

44402-09010, 44402-09011

SY6002

CONTROL ARM (WITH BALL JOINT)
FRONT UPPER LH

44401-09010, 44401-09011

SY6003

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

Weight : 7,310 kg  / 16.116 lb
4450209001, 4450209004

4450209100

SY6004

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

Weight : 7,310 kg  / 16.116 lb
4450109001, 4450109004

4450109100

CHAIRMAN H 1997 - 2014

Image Product Code and Description Details OEM

ME12135

JOINT, PROPSHAFT Weight : 0,635 kg  / 1.400 lb
1244110115, 1244110615

2024100315

ME12136

JOINT, PROPSHAFT Weight : 0,895 kg  / 1.973 lb
1244100215, 2014101715

2024101315

KORANDO KJ 1996 - 1999

Image Product Code and Description Details OEM

DW1003

BALL JOINT FRONT UPPER

Weight : 0,736 kg  / 1.623 lb
Cone Size [mm] : Ø17,5
Connection Hole Diameter : Ø8,5
Ball Pin Thread Size : M16X1,5

4443003011, 44430-03011

DW1004

BALL JOINT FRONT LOWER

Weight : 1,45 kg  / 3.197 lb
Cone Size [mm] : Ø17,5
Connection Hole Diameter : Ø12,5
Ball Pin Thread Size : M16X1,5

4550505001, 45505-05001

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

6 info@riw.com.tr



SSANGYONG

KORANDO KJ 1996 - 1999

Image Product Code and Description Details OEM

DW2011

TIE ROD END

Weight : 0,405 kg  / 0.893 lb
Length : 84 mm  / 3.31 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M14X1,5
Ball Pin Cone Diameter : Ø16

4666005500, 46660-05500
4666005501, 46660-05501

4666005502

KYRON 2005 - 2006

Image Product Code and Description Details OEM

SY1001

BALL JOINT FRONT LOWER Weight : 0,766 kg  / 1.689 lb
44541-09000, 44541-09001
44541-09002, 44541-09003
44541-09004, 44541-09005

SY3001

AXIAL JOINT
Weight : 0,600 kg  / 1.323 lb
Length : 212 mm  / 8.35 inch

4650009005

SY4001

LINK STABILIZER REAR RH
Weight : 0,345 kg  / 0.761 lb
Length : 167,5 mm  / 6.59 inch

4475209000

SY4002

LINK STABILIZER REAR LH
Weight : 0,345 kg  / 0.761 lb
Length : 167,5 mm  / 6.59 inch

4475109000

SY6001

CONTROL ARM (WITH BALL JOINT)
FRONT UPPER RH

44402-09010, 44402-09011

SY6002

CONTROL ARM (WITH BALL JOINT)
FRONT UPPER LH

44401-09010, 44401-09011

SY6003

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

Weight : 7,310 kg  / 16.116 lb
4450209001, 4450209004

4450209100

SY6004

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

Weight : 7,310 kg  / 16.116 lb
4450109001, 4450109004

4450109100

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

7 info@riw.com.tr



SSANGYONG

KYRON 2007 - 2014

Image Product Code and Description Details OEM

SY1001

BALL JOINT FRONT LOWER Weight : 0,766 kg  / 1.689 lb
44541-09000, 44541-09001
44541-09002, 44541-09003
44541-09004, 44541-09005

SY3001

AXIAL JOINT
Weight : 0,600 kg  / 1.323 lb
Length : 212 mm  / 8.35 inch

4650009005

SY4001

LINK STABILIZER REAR RH
Weight : 0,345 kg  / 0.761 lb
Length : 167,5 mm  / 6.59 inch

4475209000

SY4002

LINK STABILIZER REAR LH
Weight : 0,345 kg  / 0.761 lb
Length : 167,5 mm  / 6.59 inch

4475109000

SY6001

CONTROL ARM (WITH BALL JOINT)
FRONT UPPER RH

44402-09010, 44402-09011

SY6002

CONTROL ARM (WITH BALL JOINT)
FRONT UPPER LH

44401-09010, 44401-09011

SY6003

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

Weight : 7,310 kg  / 16.116 lb
4450209001, 4450209004

4450209100

SY6004

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

Weight : 7,310 kg  / 16.116 lb
4450109001, 4450109004

4450109100

MUSSO 1999 - 2005

Image Product Code and Description Details OEM

DW2011

TIE ROD END

Weight : 0,405 kg  / 0.893 lb
Length : 84 mm  / 3.31 inch
Body Thread Size : M14X1,5
Ball Pin Thread Size : M14X1,5
Ball Pin Cone Diameter : Ø16

4666005500, 46660-05500
4666005501, 46660-05501

4666005502

DW3006

AXIAL JOINT
Weight : 0,571 kg  / 1.259 lb
Length : 274 mm  / 10.79 inch

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

8 info@riw.com.tr



SSANGYONG

MUSSO 1999 - 2005

Image Product Code and Description Details OEM

DW4006

LINK STABILIZER FRONT

Weight : 0,254 kg  / 0.560 lb
Length : 111 mm  / 4.37 inch
Ball Pin Thread Size : M10X1,25

4775005001, 47750-05001

REXTON 2003 - 2006

Image Product Code and Description Details OEM

SY3001

AXIAL JOINT
Weight : 0,600 kg  / 1.323 lb
Length : 212 mm  / 8.35 inch

4650009005

SY4001

LINK STABILIZER REAR RH
Weight : 0,345 kg  / 0.761 lb
Length : 167,5 mm  / 6.59 inch

4475209000

SY4002

LINK STABILIZER REAR LH
Weight : 0,345 kg  / 0.761 lb
Length : 167,5 mm  / 6.59 inch

4475109000

SY6001

CONTROL ARM (WITH BALL JOINT)
FRONT UPPER RH

44402-09010, 44402-09011

SY6002

CONTROL ARM (WITH BALL JOINT)
FRONT UPPER LH

44401-09010, 44401-09011

SY6003

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

Weight : 7,310 kg  / 16.116 lb
4450209001, 4450209004

4450209100

SY6004

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

Weight : 7,310 kg  / 16.116 lb
4450109001, 4450109004

4450109100

REXTON 2007 - 2012

Image Product Code and Description Details OEM

SY1001

BALL JOINT FRONT LOWER Weight : 0,766 kg  / 1.689 lb
44541-09000, 44541-09001
44541-09002, 44541-09003
44541-09004, 44541-09005

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

9 info@riw.com.tr



SSANGYONG

REXTON 2007 - 2012

Image Product Code and Description Details OEM

SY2001

TIE ROD END RH Weight : 1,046 kg  / 2.306 lb 46660-09013

SY2002

TIE ROD END LH Weight : 1,046 kg  / 2.306 lb 46660-09004

SY3001

AXIAL JOINT
Weight : 0,600 kg  / 1.323 lb
Length : 212 mm  / 8.35 inch

4650009005

SY4001

LINK STABILIZER REAR RH
Weight : 0,345 kg  / 0.761 lb
Length : 167,5 mm  / 6.59 inch

4475209000

SY4002

LINK STABILIZER REAR LH
Weight : 0,345 kg  / 0.761 lb
Length : 167,5 mm  / 6.59 inch

4475109000

SY6001

CONTROL ARM (WITH BALL JOINT)
FRONT UPPER RH

44402-09010, 44402-09011

SY6002

CONTROL ARM (WITH BALL JOINT)
FRONT UPPER LH

44401-09010, 44401-09011

SY6003

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

Weight : 7,310 kg  / 16.116 lb
4450209001, 4450209004

4450209100

SY6004

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER LH

Weight : 7,310 kg  / 16.116 lb
4450109001, 4450109004

4450109100

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

10 info@riw.com.tr



NOTES



NOTES

Product Code Additional Information

SY1001
BALL JOINT FRONT LOWER

L=98mm

SY6003
CONTROL ARM (WITH BALL JOINT) FRONT
LOWER RH

4WD

SY6004
CONTROL ARM (WITH BALL JOINT) FRONT
LOWER LH

4WD


